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1 Discussion
RAN1 receives LS from RAN2 on RACH retransmission delay [1]. 

We propose following reply:
a: What is a typical number of power ramping steps for random access preamble?

Although it depends on the accuracy of openloop control and network configuration, RAN1 assumes typical case would be only one transmission is enough.

b: How much delay should be considered between successful random access preamble transmission subframe (i.e. PRACH slot) and first subframe of random access response window?

In case of UL-SCH, following timing diagram was agreed [2].
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This response time for the first subframe of random access response window is the minimum value and eNB could take longer processing time than this minimum value depending on the eNB implementation and load of RACH response. We think the same processing time with PUSCH would be one possible candidate for the minimum processing time.  Therefore we propose 3ms after the reception of random access preamble.

c: What is a minimum UE processing delay of the random access response and the time of transmitting random access preamble again? Could RAN WG2 assume that same delay for the UE in responding to an UL grant in the RA response as for the PDCCH?
There are two cases of the minimum UE processing delay of the random access response and the time of transmitting random access preamble again.

Case 1) In case UE does not receive PDCCH to indicate message 2 by using RA-RNTI.

Case 2) In case UE receives PDCCH to indicate message 2 by using RA-RNTI but message 2 does not contain preamble ID which UE used.

Although it is not asked by RAN2, UE processing delay of the random access response and the time of transmitting message 3.

Case 3) the processing delay between the time of the random access response and the time of transmitting message 3.

We propose above three cases are same processing delay for the simplicity. The most demanding case is the case 3 as it requires the decoding time of message 2, checking time of next procedure and encoding time of message 3. We propose the value is (5 - 0.67)ms, which adds 2 ms additional time to DL-SCH decoding. The timing relation is shown below.
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